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. Solve the differential equation: ¥y’ +y’ +y = secx (10%)
. Find the general solution of y' =1 + (y — x)? (10%)
. Please find the zero-state response and zero-input response of the differential equation:
y" + 4y = f(t),y'(0) = 0,y(0) = 1 ,where f{{) is shown as in following figure:
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. Solve the system of linear differential equations X' = (0 1 1)}( {15%)
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. WA R B A & ¥R Kk (Method of Eigenfunction Expansion) ' K & F 7] &) 3k & Ju i 7 44 F A& (Non-homogeneous
Boundary-Value Problem) :

Jf+%y=sm2x,ym)myﬁﬁ=0-ﬂmﬂ
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w0, )=0 - u(l, t)=0:£>0
u(x, 0)=¢c, » O<x<l

R ko ho oAb

KA AN




